n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
V ® e %jﬁ{']%\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH 1

X 7£CF8MT\%E%WE€GD’*”
XK BNPITZS

R SEPITE
/N CFEMANBIRAG S E NI TR

BUTHRAREIALE : 15 Nm~480 Nm

\_ Be environmentally friendly..please don't print this document unless you really need to. 1/13


https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/cf8m%E4%B8%8D%E9%94%88%E9%92%A2%E7%B2%BE%E5%AF%86%E9%93%B8%E9%80%A0%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/ImmaginiProdotti/pallinato-GD.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1. BRI B A B
MARTEZR SRR Z MR ER T ;
RMEKIRER | Rl R mE SR A EE.

24718, BEMENHNREERII50 HRC
ERRRAT AR RN

3HTEANTER Z [RIABN R
BN RS

4RENERIT B (B ERNTE R BN , BEME S ANEHE3)).

TREERNE BN RIR BRI SEN , IR D BRI

FTIFMKAN A & B3R SR

TRk AAIITE AR, RETFEERER

ABRTFERMEENIITE , HEEE/N-30% Kg/Nm) , 2215 ERHRHIR AT R RAA

HRTRRAMEAAIITES  HRESEBEMR, (W 1 -40% 24X cm3/Nm ; 813§ 1 -20% TS, cm3/Nm) , BB BRI RERTM TERS , SREEMER/IR
~FEYE..

S.TBENELRE
BETEIRMRERREE | AR KR .

6.Stainless steel shaft
Higher corrosion resistance

B GD15HY S 28 NAMURB R i3
TR I INEE

TEACTUATECHE B RN TTRETBLEF~IRAE
SIMLTENN B RIEER

ATEXGAIE
A RFETHRIESRIMERN

REIESILIERAIAE
EERETRE%R

\__ Be environmentally friendly..please don't print this document unless you really need to. 2/13



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

it

HARSE

HEATISNM~480NmMZ [8)

JEZHEOMRAE : 1SO 5211 ; FO3 - FO5 - FO7 - F10

TFEEN 15714-345 A

MRS £ 92°(-1°, +91°)

RIS - SENENRIEL ; BRES N GD S TRMLGESRE R
PRAERIG DIIT R RS B & 5.6Barf A2 ETAE (Nm) .

B GD 60 R~f#e , a]AEFHNAMURBAE R EHITS £

GD15-GD30A! S8 HIBC % NAMURSEN

ATEXINIERI ST EEE (2014/34/UE)

BT

IBE 1 -20°C~+80°C

FEESN : 5.6bar ; REfEILES : 8.4bar

TR - THIEEESTIRNERTR. TEIEBE |, E{EASNBRM RARFRA M.

\L Be environmentally friendly..please don't print this document unless you really need to. 3/13



L N

2
& .
ACTUATECH

it

“ia EN 15714-3 [Namur) a richiesta
mur interface on oot

Optional Code KBVI4015

GD15 + GD30

1L

.

LEH]]

Il

U

jmmm |
1]

Il

| -

||

Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
FiE +390308908142 - {£R +390308908143

*Anello di centraggio
Centering ring

4/13


https://www.cn.actuatech.com/ImmaginiProdotti/1163.jpg

g ®
ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,

FIE +390308908142 - £ H +390308908143

GD60 + GD480

oY 2y
)
HEO—/~ : N—H
o Ay w T
ENISO 5211
1/8" GAS
] 00
o 1 <
LV oy T [ .
B NP2 B
—— 0 0-Q .f -
1= NN
M5x8 )
o4 Interfaccia EN 15714-3 (Namur)
EN 15714-3 (Namur) interface
*Anello di centraggio
Cenftering ring
E
)
- & Q .
R\ : /I
| M5x8 Interfaccia per accessori
EN 15714-3 (VDI/VDE 3845)
Accessories interface
- EN 15714-3 (VDI/VDE 3845)
RARSER
wHEH KGGSST12 KGGSST4 KGGSS116 KGGSS118 KGGSS120 KGGSS122
R~ GD15F03 GD30F03  GD 60 FO3-FO5 GD 120 FO5-F07 GD 240 FO5-F0O7 GD 480 FO07-F10
L mm. 120 134.,6 158,4 192,9 246,8 298,4
Amm. 72,4 80,4 92,5 16,5 136,4 160
B mm. 13,4 1,6 - - - -
Cmm. 12 13 - - - -
D mm. 2872 32,7 37,7 462 56,2 68
Emm. 9 9 n 14 17 22
Fmm. 2 2 2 3 3 3
Ch.G mm. 8 9 10 12 15 19
Hmm. 10 10 13 13 17 19
N mm. 23 23 20 30 30 30
Xmm. 59 68 80,3 94,4 n7 139,7
Jmm. 10,2 10,2 122 16,3 193 243
DK mm. 25 25 25 35 35 55
Qmm. 50 50 50 80 80 80
P mm. 25 25 25 30 30 30
@U mm. - - 50 70 70 102
V. mm. 36 36 36 50 50 70
Y x prof. depth mm. M5x9 M5x9 M5x9 Moex11 MexI1 M8x13
W x prof. depth mm. - - MexT1 M8x15 M8x13 M10x22
#t=8 dm3/cycle 0,08 0,16 0,30 0,61 1,26 2,46
BEE Kg. 0,8 12 1,8 33 56 9,5

Be environmentally friendly..please don't print this document unless you really need to.

5/13


https://www.cn.actuatech.com/ImmaginiProdotti/xp6CsB_DA060516S.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® . %jﬁ{'ﬁqz\/ﬁilla Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH 1
LIRS

"GD" W HRE 1 CFBMANBMR SN ITE A Y - R - GD15-GD30

s s
ot b

hﬁ_ Be environmentally friendly..please don't print this document unless you really need to. 6/13


https://www.cn.actuatech.com/ImmaginiProdotti/1167.jpg

2
& .
ACTUATECH

B 2R
1 HIfE
Z HEOKE
3 VDI/VDE £
4 NAMUR
5 %
6 e
7 HE
8 e
9 Seeger 3R
10 fral:cl
T +FEtk
12 +FEHIERSMT
13 +FIEHRIBRL AT
14 e
15 XAEHE
16 TSR
17* Hh_EOE
18* O
19 VEES
20* VEE S
21 BHT
22* TEZEOE
23 f&ahiho
24 HE
25* L
26 OFF 8 (1E%)

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

#J&: GD 15 + GD 30

by
fen

N = NN NNDIAMNN = N2 =22 NN == =N =

MR
ENziis
NBR
it
REEN
it
R
it
il
it
il
E&W
A&
BEW
Z YRR g
YRR AR
ZYERERS g
FKM
FKM
St
P.T.F.E. carbo-graphite filled
REF
NBR
Eiai]
E&N
YRR g
NBR

* BHERNALG

"GD"WHHEEFEIE CFBMAER AT - R : GD60-GD480

\L Be environmentally friendly..please don't print this document unless you really need to. 7/13



P
& .
ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

B TR
1 HIfE
2% HEORHE
3 5%
4 124
5 H&
6 Seeger R
7 rales]
8 TSR
9 e
10 +FiEtk
™ O
12 +FIEHIBRISMT
13 +FIEHR IR AT
14 TEE
15+ TEEXLE
16* EZESEAN
17 1&3hih
18 HE
19* JEEOHE
20 TEXAE
21 EXAEE
22* i O
23+ L

Ll m = a NININNNAN A ma a a aaa N = N =

* BHERNAN

MR
i
NBR
N
RN
Nzt
il
iz
ZYERER RS
ZUERER AR
i
FKM
il
it
il
P.T.F.E. carbo-graphite filled
RaWs
it
il
NBR
YRR g
ZUERER AR
FKM
ZUERERS AR

\__ Be environmentally friendly..please don't print this document unless you really need to. 8/13


https://www.cn.actuatech.com/ImmaginiProdotti/1168.jpg

e .

ACTUATECH
A

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

SIPITHA"GD R ER

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 2 di alimentazione, i pistoni si muovono verso il
centro e si ha una rotazione antioraria, la posizione finale & quella rappresen-
tata nel disegno.

WORKING PLANE
Supplying air through the air connection 2, the pistons move towards the center
in an anticlockwise direction. The above drawing shows the final position.

(=)

@@4@

SCHEMA DI FUNZIONAMENTO
Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono verso l'e-

sl

sterno e si ha una rotazione oraria, la posizione finale é quella rappresentata

nel disegno.

WORKING PLANE
Supplying air through the air connection 4, the pistons move outwards in a
clockwise direction. The above drawing shows the final position.

ATTUATORE REGOLABILE-ISTRUZIONI PER L’ UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

TAPPO
CAP

TAPPO
CAP

s | [

A) Immettere aria nel foro “D"in modo che i pistoni (part. n°1) si vengano a trovare
in posizione di finecorsa verso i tappi.

B) Togliere il controdado (part. n°3) agendo sulla chiave C.

C) Togliere I'aria di alimentazione.

D) Con una chiave a brugola agire sulle viti (part. n°2) ed effettuare la limitazione di
corsa desiderata.

N.B. La corsa puo essere limitata per un massimo di 10° da 80° a 90°.

Altre regolazioni disponibili a richiesta.

E) Mettere aria nel foro “D’, verificare che entrambe le viti (part. n°2) siano a battuta
contro i pistoni.

F) Mettere il controdado (part. n°3) munito di O-ring (part. n°4) per la tenuta tra
dado e tappo.

N.B. queste spiegazioni sono indicative, per le istruzioni operative, vedere il manuale.

CHIAVE C
KEY C

A) Supply air through the air connection D so that the pistons (Part. 1) move to the end-
stroke position, towards the caps.

B) Remove the counter nut (part. 3) acting on the C key.

C) Shut off the air supply.

D) Adjust the end stroke as desired, acting on the screws (part 2) with an hexagonal key.
Note: maximum adjusting stroke 10% ranging from 80° te 90°.

Other regulations on request.

E) Supply air through the air connection D and check that both screws stop the pistons.
F) Screw the counter-nut (part 3) and its o-ring (part 4) to keep nut and cap tight.

N.B. these explanations are indicative, for operating instructions, see the manual.

Be environmentally friendly..please don't print this document unless you really need to.

9/13


https://www.cn.actuatech.com/ImmaginiProdotti/NBcY8n_FunzionamentoGD.png

n ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

[

R&ERUSNESR

FhRBURNSS

NAMUR FE7E

\_ Be environmentally friendly..please don't print this document unless you really need to. 10/13


https://www.cn.actuatech.com/ImmaginiProdotti/S4pA6Z_138.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/eGJhhd_1382.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/bUy1rq_1383.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FEVE +390308908142 - f#H +390308908143
ACTUATECH

FEARR]

HSERE (RERSKE)

\_ Be environmentally friendly..please don't print this document unless you really need to. n/13


https://www.cn.actuatech.com/ImmaginiProdotti/ZJCPCD_1384.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gh3LNQ_1385.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/tB5UY3_1386.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

HR ARz

PR PRAZF

ENABRALZR

HURBABR1228112GD ExdIIC

BFVEEEFACTUATECHMA =B &,

\_ Be environmentally friendly..please don't print this document unless you really need to. 12/13


https://www.cn.actuatech.com/ImmaginiProdotti/5R5jah_1387.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/8OTQlu_1388.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/xbiuxH_1389.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gPqkJU_13810.jpg

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
V ® e %j(*{']g\/ﬁi\la Carcina(BS) ,
VE +390308908142 - +390308908143
ACTUATECH 1

A

BHx

ATTUATORI INOX
UERAH

AKNOWLEDGEMENT OF RECEIPT - EC - ATEX
SIL CERTIFICATE GD

E4SIEES

GDO120FO5FO7INOX
GDOO30FO3INOX
GDO480FO07F10INOX
GDOOI15FO3INOX_OPT
GDOO60F03FO5INOX
GD0240FO5FO07INOX
GDOO15FO3INOX
GDOO30FO3INOX_OPT

\_ Be environmentally friendly..please don't print this document unless you really need to. 13/13


https://www.cn.actuatech.com/FilesProdotti/AGSS0021-ACTUATECH-StainlessSteelactuators.pdf
https://www.cn.actuatech.com/FilesProdotti/AcknowledgementOfReceipt-EC-ATEX.pdf
https://www.cn.actuatech.com/FilesProdotti/35-Certificate-202029401-ACTUATECH-AttuatoriGSGD.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0120F05F07INOX-80726.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0030F03INOX-80723.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0480F07F10INOX-80728.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0015F03INOXOPT-80722.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0060F03F05INOX-80725.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0240F05F07INOX-80727.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0015F03INOX-80721.pdf
https://www.cn.actuatech.com/FilesProdotti/GD0030F03INOXOPT-80724.pdf

	目录
	证明书
	数据表

